(401BCO21)

B.Com. (General/ Computer Applications) DEGREE EXAMINATION, FEBRUARY
2024.

Fourth Semester
CORPORATE ACCOUNTING

Time : Three hours Maximum : 70 marks

SECTION A — (5 x 4 = 20 marks)

Answer any FIVE of the following.

1. Equity shares vs preference shares.

é—agoges I VS eﬂ@ég{)) JPeTPeD.

2. Types of capital.

B0 550 S° Eseen

3. Reserves used for the issue of bonus shares.

5700 Trere e88 &HBIPR0D BesBagen.

4.  Issue of debentures as collateral security.

@D T (5°BeBS® wEBE) m EBoDY &b

5. Types of Goodwill.

HEDS & seen

6. Corporate dividend tax.

869065 GAGO& DdY

7. Kinds of dividend.

&930& S° Sseen.

8. Methods of valuing shares.



10.

TPETPOD DOV §e£ ‘&)géoe».

(a)

(b)

()

SECTION B — (5 x 10 = 50 marks)

Answer the following questions.
Define preference shares and explain different types of preference shares.
BREFD TEPOD) DYFH0D HOBAW e3PEY Tered® S5eedy dHB0Bos.

Or

Nagapur chemical works Ltd. issued 1,00,000 equity shares of Rs. 100 each
at a premium of Rs. 20 to be paid as follows.

Application : Rs. 20; Allotment : Rs. 50 (with premium) First call : Rs. 20;
Final call : Rs. 30.

1,50,000 applications were received and allotment made for 1,20,000 shares
in pro rate basis remaining shares returned back and excess money adjusted
towards allotment.

Ram Lal to whom 4,000 shares were allocated failed to pay allotment and
two calls. Kishan to whom 5,000 shares were alloted failed to pay both the
calls after the final call the company forfeited both the shares and re-issued
to Mohith @ 80%- per share fully paid. Write Journal entries.

THID BWES AWBE 837.000 o ewd Ko 1,00,000 &:85ed Trerod 8. 20
o a0 & &8 Bo8.

BSrRy S° 1 8. 20; BeranoY: 8. 50 (500506 Doocsed BoB Deoy: S,

20; 08 Dew : 8. 30 @0 IYoTed.

EodE 1,50,000 areresd FEgraven oo, 1,20,000 areredo D56 :)CGS)Q?QS’S
Eer0009, DAD FEFP DNBO TOD BR0B. D DAY FEIPRY B

BeP000NE DG e DOSeIDD8.

oPe0 S5 4,000 Beron0Ne, @HE0 Bero0D) HDOBATL De) R 5RO
DYoRBBo.

5,000 wreren Beronodd 808 Dewd) A5y DYoIB . B DY BEHTS
T8 QBB Treredy BY DR S8R Er.00 Jrorr DYodd drereds S8R b

DB WDV VeI O [Fraod.

Give the Journal entries for the following Sita Ltd. has 4,500 equity shares of
Rs. 10 each, Rs. 6 per share paid up. Available Reserve are

(1) Share premium Rs. 18,000



(i1) P and L account (Cr) Rs. 22,500
(111) General reserve : Rs. 45,000.

It was decided to make the partly paid shares as fully paid and to issue fully
paid bonus shares to the existing shareholders at the ratio of 2 shares for 3
already held.

808 DITOK WHVERD Doy Do EraLod. wee dWBE 768 3,300
éwagcgeg IO
83°.00 © DD E0d. SI°.E e 35‘;”)0&63). §0Q). o°8 ;sg 1808 Besdogen o).

(1) Ter (DS Eo°. 18,000
(i) ergdpe eree (Cr) 8. 22,500
(il) R Ses Badag: 8. 45,000.

g0 DYoAS Tero J8 BYodI Trerer HIEwEd B (9
DTG ToETOE) B0k TerOR) P8 30D Fon dreren @8 Dosaertd

DBOW0D08.
Or
(b) Define Debentures and briefly explain different types of debentures.

EBOBYH0 DYGI0D, D 8B GBoWEY0 K0B0d 9HB0H0G.

(a) Define Goodwill. What is the need of valuing good? And what factory affect in
the valuation of goodwill?

MBS D050 MHEISD) deHEYHOVD edBgE 3?2 HEDS dend

E636050 (D5PDHO0 B SIS D03 ?

Or

(b) Following is the balance sheet of Suman Ltd as on 31.3.23

Liabilities Rs. Assets Rs.
8% 2,500 preference shares of 25,000 Good will 5,000
Rs. 10 each
5,000 equity shares of Rs. 10 each 50,000 Fixed assets 90,000
Reserves (Including provision 50,000 Investments (5% Govt. 10,000
for tax Rs.5,000) Loan)

Debentures 25,000 Current Assests 50,000



Q)P0 8oe. SISVOV 8oe.
8% 2,500 e85 Trered 83°.00 devid 25,000 x,&98 5,000
S8
5,000. 58563 Treren 537,10 © dens 20,000 Soryen 90,000
S8
Bessogen (D9 3 Domyen 830 3,000 & 50,000 epecien (5% (deosg 10,000
£0%) &)
&BoDE) 25,000 55508 esgen 50,000
2000£9T°H 0 12,500 (BPPE gpdoaen 5,000
&BoBE P GAR 08N 2,500
1,62,500 1,62,500
KoDd Book), Ven oo (DBy MBI EBoBY P DG SVDND BKTB)
85°.038,300 R0°00S" o &) oo Bwk), H378)e devd 839,300
B EOEO &30 S TG B 00% &S denddo B VoNBYT°e
&850 ergro STHoR eon BE)Eexd.
12. (a) ABC company has a share capital of Rs.2,00,000 divided into 10,000 equity

Creditors 12,500 Preliminary expenses 5,000

Discount on debentures 2,500

1,62,500 1,62,500

The average profit of the company (after deducting interest on debentures
and taxes) is Rs. 15,500. The market value of the machinery included in fixed
assets is Rs. 2,500 more. Expected rate of return is 10%. Calculate the value
of goodwill of the company on the basis of five year's purchase of super
profits.

31.3.23 763 0000 OWBE 778 ey Yo HGE

shares of Rs. 10 each and 1,000, 6% preference shares of Rs.100 each. The

company in its general meeting proposed a dividend of 10% on equity shares.
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The preference dividend is yet to be paid. Reserves and surplus are worth
Rs.80,000 and other liabilities Rs.25,000. The realizable value of tangible

assets Rs.3,00,000. Ascertain the value of share of company.

ABC 502 8. 9,00,000 ® J05°0EI50 0. D e .00 5P,
00,000 853 Treren HBA50 e 83°.000 Fpd 0,000, £% 885D
TereoT DPH0RIBDB. EoD e WITBE0S® Sdd Tere  00%
BIBOEY (DDrEoT°E. SQEGY Toere P &IB 0D QOB® 6020665653. Besagen,
&)Koé@ 8°.00,000 HoBasn 3B edpew E3°.9X,000 éé&&’). ea‘{o_ooe) 2
éﬁ?@_(ﬁo; DenH 53°.3,00,000 00D 706770 De0D[0 EHD0NLHIDN.

Or

(b) Explain different methods of valuation of shares.

TOETOD) DOVD s‘e‘é DD Kogéoe)éo 9580508.

(a) Write briefly the provisions of companies act 2013.
E0ud © 60 9003 doEHOD Fggomn 9980H0&.
Or
(b) From the books of Cheran Ltd as on 31.3.23 prepare profit and loss a/c and
companies balance sheet as on that date.
Rs. Rs.
Buildings 6,00,000 Creditors 3,50,000
Furniture 60,000 Surplus (Cr) 20,000
Motor vehicle 60,000 Gross profit 10,00,000
Companies equity shares 4,00,000 Interest recd on 10,000
investments
Stock the trade 4,00,000 Salaries of wages 2,20,000
Debtors 2,80,000 Directors fee 8,000
Cash at bank 1,72,000 Electricity charges 25,000
Advance for building construction 1,30,000 Rent, Taxes and 10,000
Insurance
Share capital 10,000 equity shares of 10,00,000 Auditor fee 15,000
Rs. 100 each

Adjustments:

(1) Fixed are depreciated @ 10%

(i1) Stock was revalued as Rs. 3,60,000, but not taken into accounts.
(i11) Out of the debtors Rs. 80,000 were due for more than 6 months.
(iv) Provision for tax ignored.



DEH OWEE&E 728 Yo 2009 31.3.23. K 0Podd 308 99008 ergdge alc
R0 508050 &5 BE T3 &5 @YPe DEFEB BT Voo,

8. 8.
ARIGN 6,00,000 ewesmesen 3,50,000
28)580 60,000 2oxoen gree (Cr) 20,000
IS 60,000 dpe ergdwn 10,00,000
RSO
Ko &e8ged 4,00,000 »eyae p 5ay3 96 10,000
POM VD)
DBEY DB 4,00,000 eren, ddaren 2,20,000
AMEARTSVON 2,80,000 2858 Yew 8,000
250ES” HAES 1,72,000 2c0g5 o8en 25,000
255% doYETRS 1,30,000 3, vdye, His 10,000
TS0
e Soreido  10,00,000 esdeod Hew 15,000
10,000 S+85e3

Jeeren. 83°.100
© Jed ol

QTN P VoSBT 10% BSOS ST
DEIE 8. 3,60,000  &BR DewHEB. qos° B%),5°8 HBKB0DBE
(i)  2esfOS® 83°.80,000, 6 VOO P M S0 &Y.

(iv) DY Aoen dYBoDos.
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B.Com. (General/ Computer Applications) DEGREE EXAMINATION, FEBRUARY 2024.
Fourth Semester
COST AND MANAGEMENT ACCOUNTING

Time : Three hours Maximum : 70 marks

SECTION A — (5 x 4 = 20 marks)

Answer any FIVE of the following questions.

1. Give examples for factory overhead expenses and administration overhead expenses.

58 85536 pden 5080k eph £35rE PO ErrTrBoBos.

2. Advantages and disadvantages of FIFO method.

FIFO 988" &5Brmen 508050 dapen

3. Features of job costing.

& SPOR oFeTen DHBoYDY.

4.  Accounting treatment of normal loss and abnormal loss in process accounts.

PR ©5°0e5)S° 8 HR0 DIBAN BT HPHW ) DEOM HBAEI0BOL.

5. Specify financial statements and state the uses of financial statements.

eagé D BED i)S"b:O To63 EDBITOR i)S"béo&.

6. Characteristics of marginal costing.

55785 sof eFeren.

7. Causes for high labour turnover.

Q% Sab w8HH68 Ko seSeren.

8. Main functions of purchasing department.

EP00R 00 Dgri(H0 Boo¥), DOPRID doen.



(a)

(b)

SECTION B — (5 x 10 = 50 marks)

Answer the following questions.

Write the differences between cost accounting and management accounting.

92\3 e9Z°0630R D803 DowE00e5 e9F°0e30R D05 Mo Brrey Begdow.

Or

From the following information prepare a cost sheet and ascertain profits.

Rs.

Direct material 12,20,000
Direct labour 11,80,000
Direct expenses 5,20,000
Factory overhead is 50% of prime cost

Sale of scrap 8,000
Opening work in progress 2,80,000
Closing work in progress 1,00,000
Office expenses 15,60,000
Interest on secured loans 70,000
Provision for taxation 40,000
Depreciation on office furniture 72,000
Selling and distribution costs 8,20,000
Opening stock of finished goods 5,00,000
Closing stock of finished goods 3,00,000

Profit expected is 20% of sale price

BHOD DB H500S H505 DIBE HOSTEL DD ergfo DB o B8) 09050,

(DB Do38AHS
(D%, (85
L‘&)éég ngSer»
58 855 &

HOY b eﬂ‘cﬁo&s’ D0

8oe.

12,20,000
11,80,000
5,20,000

(D0 505006° 50 D

8,000

(402BCO21)



[R80850S° E70RR 08B0 DI 2,80,000
S0R0Y ETHRIOBIR) DR 1,00,000
eai)}i)o BN 15,60,000
T8 o 0070 D bé 70,000
STPANY DHYS DTYe 40,000
695 9896 P B 72,000
IR0 S08A® 003 Sy 8,20,000
BAIIPGH HDew (|Pr8ogso) 5,00,000
HOITY D bK)_JDQ)e)o (S0R09) 3,00,000

egHod BRSO P D0 THo SBUIIE.

(a) Write the advantages of perpetual inventory system.

@) B3N8 DS F0D &DHBIrren Beg)do.

Or

(b) Calculate the earnings of the working Ram and Raghu under straight piece rate and

Taylor’s differential piece rate
e Normal rate per hour is Rs. 120.
e Standard time per unit 60 seconds.
e Differential piece rate:
80% of piece rate when below standard
120% of piece rate at above standard
The workers have produced for 5 days in a day of 8 hours of follows:
Ram : 2000 units

Raghu : 2600 units.

3 (402BCO21)
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(a)

(b)

BKH DB HDood S"8&§J€) TS0 HIBOIN FAN WO e es 55861 H08050

8508 Boo¥), Bareys DO Ben DEHLO (HED0 B 0B050.
o {0 edes Be Sa°. 120.
o 28 AR K (DH0Ce SPEHX 60 VEXY
o 580D BALIIND Parsyseen:
(D05IEs0 Ky B 1 D0 Bes® 80 TBB0
(DOSI°E30 Ea%) Q00DR DY : DV Bews® 120 FBB3W

SO a0 B3 §ereS® D000 dforrden 0805 E9w §areds® 5%t D08

1000 °YPd DE 00 ASoreden) &8 DTS

Explain the objectives, advantages and disadvantages of job order costing.

o) 688 sYoR Bow¥), BgOsren &IBI ey HIBASL Japen DHBOBIDY.

Or

From the following particulars prepare a job cost sheet showing cost per unit and profit

for the period.

Rs.

Opening stock of material 3,00,000
Purchases of material 16,00,000
Closing stock of material 1,00,000
Direct wages 14,00,000
Machine hours worked 20,000
Machine hour rate 60
Office overheads : 40% of works cost

Selling overheads Rs. 70 per unit

Units produced 52,000
Units sold 50,000

Profit margin is 20% on sales

4 (402BCO21)



BRH IS5 D008 e R IDOE HBATL DD o aforees R DB ergHw

B8),0d0.

P800 30880506 &
20638056 §0Ren

DOEBOS HoR0Y) DEE

g dTren

oS DICeB0 Koeen

B K0eoEd S HY Dasw see0
a9 698 &) Hto) ) 57 &°
5RO LISIE) 28 T 8
&8 @000 SWpew (CTIede)
&8)S VRS ((SISHALNY

PP S7°GS edyses’

12. (a) Explain the objectives of financial statements.

RS Re5Io0eh) eBTgen dHBoYH.

(b)

Or

of the Base year and interpret them.

Year Sales Rs. Cost of sales Rs.

8oe.

3,00,000

16,00,000

1,00,000

14,00,000

20,000

60

40 FHIND

70

52,000

50,000

20 FHD0

Profit Rs.

2018-19 15,00,000 12,00,000
2019-20 16,00,000 14,00,000
2020-21 14,00,000 13,00,000
2021 -22 20,00,000 16,00,000
2022 -23 22,00,000 18,00,000

3,00,000
2,00,000
1,00,000
4,00,000

4,00,000

Calculate the trend percentages from the following figures of EFT Ltd. taking 2018-19

(402BCO21)
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()

(b)

BRH  DID?EIN  espeSone L‘;)‘csg)e_fg BTN DABIPR0D &8 965§e)°©°e) PSRN

;Pasgyréc‘ooéo& B8 VoIHWo D000-0F .

Explain the features and assumptions of marginal costing.

257896 5Yof oFeTer B85 (FDoASTen dHBoBIDY.

QODBYEHW eﬁzboé?e)o 8. eag)o&é SISV GRSV ISR ARNY

2018 -19
2019 -20
2020 - 21
2021 - 22
2022 — 23

Sales Rs. 50,00,000

Marginal costs 80% of sales

Fixed costs Rs. 8,00,000

Find:
@
(11)
(111)
(iv)
V)

Profit
PV ratio
BEP

15,00,000
16,00,000
14,00,000
20,00,000
22,00,000

Margin of safety and
Sale when profit required is Rs. 15,00,000.

BRs°e 8. 50,00,000

DrGRS vy wdyse0s® 80%

sé)d dgoseen 8. 8,00,000

D DIBI0e 300&:

(@)
(i1)
(iii)
(iv)
(v)

(ARG

PV 9y&

BEP

88 @9 Q DoBasw

Or

8oe.

12,00,000
14,00,000
13,00,000
16,00,000
18,00,000

8oe.

3,00,000
2,00,000
1,00,000
4,00,000
4,00,000

g5 H0 80, 15,00,000 5o5 005 OIRTRV OB &0

(402BCO21)
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B.Com. (General/Computer Applications) DEGREE EXAMINATION, FEBRUARY 2024.

Fourth Semester
INCOME TAX

Time : Three hours

SECTION A — (5 x 4 = 20 marks)

Answer any FIVE of the following questions.

1. Assessment year and previous year.
(OB D0HBHB0 HoBAW K& dod&To.
2. Profits — in — lieu of salary.
deeD8 220V ergTen.
3. Annual Value.
308 Dewsd.

4, Cost of acquisition.

E°50R%en HgaRo.

5.  Sec 80G.
8 80G.
6. Concept of Income and Casual Income.

e3T°0300 HOBAW 51’523%65 8T A500 BooE); PN,
7.  Meaning of Income from other sources.

aB 8 38E 808 esTeafro eI ©go.
8. Perquisites.

DBoenen.
()

Maximum : 70 marks



IH80H508.

10.

11.

(a)

(b)

(a)

(b)

(a)

SECTION B — (5 x 10 = 50 marks)
Answer the following questions.

How do you determine the residential status of an Individual?
28 D58 Boog), TR (DY DY Do DT:B0B06?

Or

Explain any ten items which are fully exempted from Income- Tax.

emra0 DY 1808 JPBM IFFonodwEd I DB woedy Kr8y

Explain different types of provident funds in details.

DD BEDHOBD (DG Do& o0 K8y WIHEo 9H80Hosk.

Or

Mr. Kumar is working in a limited company in Bangalore. His salary
particulars are Basic pay 24,000 p.m; D.A Rs. 4,000 p.m Bonus 2 months
salary. Employer’s contribution to approved superannuation fund Rs. 30,000
p.a. The employer gave interest free loan of Rs. 32,000. Professional tax paid
is Rs. 2,400. During the previous year the company presented a gold ring
worth Rs. 46,000 and paid residential telephone bill Rs. 16,000 and
electricity bill Rs. 22,000. Compute Income from salary.

Mr. 555°8 BoHErsd SA80S° a8 dNBE KondS® DO DoSBoT)E. @B
ABE); BHO DI — DArODHI0 S, 24,000 eO; édo@?sééo P8 8oe.
4,000; £W0 2 Yoo BBo; MHBoY o8I &EFR DEH dDoes DOEDH
O302BIOTD VDVEIGND NGB0 Fren’d E°. 30,000; 0502353 H00d o8 bé
B w0 8. 32,000; HADEIS DDy DYodds . 2,400; K&
VODBYET0S® EoDd K KoDIrBE wTVHBM JND WO &ONE0 DD
8. 46,000 D08 DYodd BOPNS Dey E°. 16,000 H085n E5E Dey

290d38. 8. 22,000 P IHT® M0 BB BH0 0D T AN BE)0H0k.

What are the expenses expressly disallowed as deduction in computing the
profits of a business?
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méavdo D00 PPN ngoboé‘;gpc:éo €9 0N 0VIED ‘{oo)‘é@gé ;pdoae» d9?

Or

(b) Sri Raghu Ram owns two houses in Hyderabad. From the following

particulars compute his income from House property.
House —1 House — 11

Municipal rent value 2,50,000 3,00,000
Rent of similar building 5,50,000 4,20,000
Standard Rent 4,00,000 4,80,000
Actual rental value 3,60,000 4,50,000
Municipal taxes 37,500 44,000
Interest on loan taken to construct the house 1,00,000 28,000

& Sp0ora0y r&orerdS® dodk Kyardnody EOR &onsy. B8R0 dIGES
DHT°® 00D B
)P estasoob0 B8) 08506,

Kyro —1  ifyro —1I

H50NIS 6 Dewd 2,50,000 3,00,000
Q
90 BHEI® I 9B 5,50,000 4,20,000
Q
BPOIRE 9y 4,00,000 4,80,000
Q
- &
DD DHYew 37,500 44,000
Kyar QT30 56 Sn¥ody wanesop & 1,00,000 28,000

(a) Define capital gain and explain the method of computing the income under

the head of capital gain.
DIOGED o DIV, OGS ergre %gé 8o esarasooy B8)0w0

‘Sog BOOBY K328y HB0H o&.
Or

(b) The following are the incomes received by Mr. Chakri during the previous

year.

(1) Rs. 4,500 Interest on the Government of India Defence Certificate.
(1) Rs. 6,500 Interest on the tax free Indian government Securities.

(i11) Rs. 3,600 Tax free debentures of a limited company.

(iv) Rs. 4,000 Interest on tax free debentures of a coal company (unlisted)

(v) Rs. 9,000 Interest on Bengal Government loan.
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(a)

(b)

(vi) Rs. 4,500 Interest on debentures of a steel company (listed).
(vii) Rs. 4,000 Interest on debentures of a leasing company (unlisted).
(vii1) Rs. 5,000 Dividends on equity shares of a limited company.

The bank realised the interest on all these securities for which it charges
2.5% on the amount collected.

Compute the taxable income from interest on securities, if the interest is due
on
31st March and 30t September.

K& 005810708 R0 Mr. 918 80D eTrasrey WodrBod &8,
(i) PrEdns (Debdg S5 988Sep 5& 8. 4,500.

() DRy SIS grES (DebBg WErBEeR & S 6,500.

(i) a8 OWBE KoDd Bovk), DY WG EBoDEY 7. 3,600.

(iv) &Ky owd (unlisted) D) 88 GBoBEYP 3G 8. 4,000.
(v)  Borrd (Hgsgo e D& S, 9,000.

(vi) a8 RS 5od (listed) EBoDdEYP & 8. 4,500.

(vii) &R 502d (unlisted) GBodSp D& 8. 4,000.

(viii) &8 OWEBE 502D Boo), Se8ged Treredp GOBo Sue. 5,000.

B TE P PEPEe 5009 DorBodD DGR 2.5% oo dore
DOEIIB.

H& Do0Bo 31 58 HoBASW 30 VPOV MO THOND, WETBe O H009 D&
500000 BYoVHOVD VY Ingo B8)0d0s.

Explain in detail about the provisions of Sec 80C.

VE® 80C BoE); o0 K8y D9HEom 9H80wH0é.

Or

Briefly describe the income of other persons which are included in assessee’s
total income.

@70?0{3 BE); dYo e3T3°03006° £V DY vBY éés’_%e) ST I°8)

EyQor DEEHEV0s.
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B.Com. (General/Computer Applications) DEGREE EXAMINATIONS, FEBRUARY
2024.

Fourth Semester
BUSINESS LAWS

Time : Three hours Maximum : 70 marks
SECTION A — (5 x 4 = 20 marks)
Answer any FIVE of the following.

1. Caveat Emptor.

E365 050850608

2. Capacity of parties.

80 e Hen.
(V) oJ°
3. Free consent.
?oogaz) K)boée?
4.  Sale by non-owner.

ONRITRBE H58 Togo° eSREI0.

5. Consensus Ad idem.

S“B‘Jé“)&:o o0& Ak

6.  Minor’s agreement.

OB 2,Y)0BDD.
7.  Agreement to sale.

BIIREHDD DB I 2)0LHW
8.  Digital signature.

&Re0S JoBHEIW.
SECTION B — (5 x 10 = 50 marks)

Answer the following questions.

9. (a) What are the essentials of valid contract?



10.

11.

12.

13.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

DYEPeN SOy BHFEBHE D063 ?
Or
What are the essentials of valid offer?

DO (DQFEHE SHOVD eHFEB O ID?

Explain Implied conditions and warranties.
(D9 ABBoed 8350 JrdHew II.
Or

What is the difference between sale and agreement to sale?
@Z)oégboo, eao“aoégo“)oo X)é’)oéboo 200D Z)o(éé Been DI.

Write about the cyber laws in detail.
28 DD H80d 9H5BoBDY.

Or
Describe the Rules regarding minor’s agreements.

DQDBIVE VOO GO 20TV DAVNDI°® KPGQ DIBORNIDND.

What are the various modes of Discharge of contract?

S“OLQJ"%)) AT 0D DDE Zogéoe)éo DIBORNIDND.

Or
What are the remedies available for breach of contract?

5068y 45OrPR8 TS S Dr0fH0e0 ID?

Explain about the Rights of the unpaid seller.

390D WHREVTEID WFSEH0 BLOYDD.
Or

Explain the rules regarding contingent contract.

e3/{0B0E 570075 DASHI® K78 DHBoBIdX.

(4D4BCO21)
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B.A./B.Com. (Computer Applications) DEGREE EXAMINATION, FEBRUARY 2024.
Fourth Semester
DATABASE MANAGEMENT SYSTEM

Time : Three hours Maximum : 70 marks
SECTION A — (5 x 4 = 20 marks)
Answer any FIVE of the following questions.
1. Explain structure of DBMS.

DBMS do%ead) d:580906.

2. What is the role of DBMS?
DBMS 0% Q9063 ?

3. Explain Degree of Data Abstraction.
Gee Do|fsres Degree O 9H80%0&.

4.  What is Generalization?
Generalization ©0& d0e3?

5.  What is Relational Integrity?
88996 Integrity e9085 d0e3?

6. Write an example for Selection and Projection operation?
Selection H08a50 Projection es9580S §%00 a8 &mrdes orasood.
7. Write steps to create cursors.
E8)0 00 0)QoB e SEedy 0°a0d.
8.  What is Exception Handling?
Exception Handling 9085 d9063?

SECTION B — (5 x 10 = 50 marks)
Answer the following questions.

9. (a) Explain Evolution of DBMS.

DBMS &%), 98e95°0) 9980908

Or



10.

11.

12.

13.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain different types of DBMS.

99 8s°e DBMS 00 99580908.

What are the draw backs of File-based system?

"Qeg—@z;"&‘é ?o‘{c\))So BogE); draw backs ev D0e3?
Or

Explain about Hierarchical model and Network model.
Hierarchical model $08a30 Network model 0809 9980508&.
Explain classification of relationship with diagrams.

B @ro&® Wowore Z)Qéde’aéo 9580%08.

Or
Which symbols are used in ER-Diagram? Explain with example.
ER-3gra®os® N DB &IBrRoDGT0N?
ETETEHRS’ 9580908.

What are DML commands?
DML esBzeen 9063 ?

Or

Explain about Imposition of Constraints.

Constraints 98090 K080 9H80H0&.

What is Triggers? Explain with program.
Triggers 085 D0e3? program & 9980%08.

Or
What is Procedure? Write a PL/SQL program to create a procedure.
Procedure @08 22063? PL/SQL 97°rR) 8r2roB0%&@d8 program &0
oeas006.

(4D7BCO21)
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MODEL QUESTION PAPER
B.A./B.Com. (Computer Applications) DEGREE EXAMINATION
Fourth Semester
OBJECT ORIENTED PROGRAMMING WITH JAVA
Time : Three hours Maximum : 70 marks
SECTION A — (5 x 4 = 20 marks)
Answer any FIVE of the following questions.

. List the applications of Object-Oriented Programming
. Reading input using Scanner Class.

. Differentiate between break and continue statement.

. Differentiate between a class and object.

. What is the use of super keyword and ‘this’ keyword.

. How to create and use a package in Java program?

. Explain method overriding with a suitable example program.

0 I O Ot A W M M

. How to assign priorities to threads?
SECTION B — (5 x 10 = 50 marks)

Answer the following questions.

©

. (a) Explain the parts of Java program?
Or
(b) What are the data types and operators in Java? Give examples.
10. (a) What are the Control Statements in Java? Explain with suitable examples?
Or
(b) Write a program which stores a list of strings in an ArrayList and then displays the
contents of the list.
11. (a) What is a nested class? Differentiate between static nested classes and non-static
nested classes.
Or
(b) What is inheritance? Explain different forms of inheritance with suitable program.
12. (a) How to access, import a package? Explain with examples.
Or
(b) Explain the file management using File class.
13. (a) What are the uses of ‘throw’ and ‘throws’ clauses for exception handling?
Or

(b) Describe how to create a thread with an example.



